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(9715 2Rel) :
(5x5x3.14)x2+5x2x3.14x[_|=345.4
10x3.14 x| _|=345.4 - 157

314x[ |=1884

[ ]=188.4=+314

[ 1=6(cm)




4. = ez TrEolAle YA 9 FuE 7oA 2.

TTT-18.84em- -7 [Sem

® 150.76cm? @141.3cm3 ® 132.66cm?

@ 130.88cm? ® 114.08cm?

HH2] 2)= 18.84 + 3.14 + 2 = 3(cm)
o] Bu])= 3% 3x3.14 X 5 = 141.3(cm?)
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@ 7x7x3.14x5 = 769.3(cm?)
@ 7xT7x3.14x4 = 615.44(cm?)
® 7Tx7xT=2343(cm?)

@ 3 2429 FolE [ Jem 2} 5HA

[ Ix[ Jx6=96, [ |x[ ]=16,[ ]=4(cm)
e Hulls 4 x 4 x4 = 64(cm®) JU .
® ¥H o] Htz]50] 15.7 + 3.14 + 2 = 2.5(cm) °| B2
Hul= 25x2.5x%x3.14x 6 = 117.75(cm?®) dY T},
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(FF 29| Hol)

= 5x5x3.14+2=239.25 (cm? )
(A1) Hol)

—10x 15 = 150 (cm? )

(FHe Hol)
=10x3.14+2x 15 =235.5 (cm? )
(2=l

= 39.25 x 2+ 150 + 235.5 = 464 (cm? )




